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Topic:- Child Development & Pedagogy (CDP)

1) A student is provided with a choice 9f 15 topics of his/her interest to complete an assignment. This incr his/her learning !
engagement. / U BTF B RATAHE T HA F Y 3TF/3Iqa 3fa & 15 2ifus A wd B1 98 39F SiftrTy s o
i Hrar 8l

1. Intellectual /m
2. Behavioural/ dgR

3. Emotional /HId®
4. Social /Wﬁrﬁ?

Correct Answer :-

« Intellectual /m

2) ADHD children have difficulties in which of the following areas? /

Frafafaa & 3 5w &7 & tdivad s=t & wfars gt 82
1. All of the above / IUgdd Tt

2. Attention only / Pad 4T &1

3. Hyperactivity only / $ad 3ifa Ifshaar

4. Impulse control only / Fad AT g0

Correct Answer :-

« All of the above / B'Cl'iiaﬁ Tt

3) 1n an intelligence test a 9 years old boy is found to have mental age of 10 years , he belongs to the IQ classification of

A tr9af P asr P UARIF ST 10 U areft 8, a5 & Snsay affevor A weifia 21
1. Superior / I8 (FHARR)

2. Average / 39d

3. Genius / UfqHTRITE (SiifAa)

4. Slow learner / HEITS! (¥l TR)

Correct Answer :-

« Average / Ghﬂﬁ

4) Which theory of development also focuses on social interactions in development? / foer g o1 H-a1 ﬁ’l@'i?l, fora & arTioTe Jaul w +f
T Hisd Hvar g2

1. Vygotsky / CIEUIRS
2. Piaget / s

3. Freud / hIIS
4. Kohlberg/ aﬁg‘«m‘

Correct Answer :-

« Vygotsky / GRS

5) Asking students to list the uses of iron metal in class will help a teacher to examine which one of the following creative abilities in students? / E'ﬁﬁ

B BeT e DI UTg F ITUNT I Yelag HA $ AT $51 U g o) g8 Wieq A Hag S0 7F el § Fufaf@a & 3 #19-3



TIATED &1 82

1. Flexibility / STaTaT

2. Originality / Hferpar
3. Elaboration /ﬁw
4. Fluency / YdIg

Correct Answer :-

« Fluency / Udlg

6) The movement in Maslow’s Hierarchy of needs should be from / AT & m*mﬁ SHTagS I gt afee-
1. Love and belonging to Physiological needs / TR 3R SYATIH | TR Sa=gehdl do

2. Self- actualization to Physiological needs / 3A-IRATr & IS 3aRadhdl ad

3. Safety needs to Self-actualization / gR&fT SHTIRIAH AT U 3T fIZA0r ah

4. Physiological needs to Self —actualization | AT SfTa=adwal O T Rifg a&

Correct Answer :-

« Physiological needs to Self —actualization | TSR SaRgedl § T fifs aw

7) Select the quality that is needed for a counselor. / R $ fore smawas fRiva FTIEA B
1. being judgmental/ IBIICED _@:IT

2. being arrogant / \’Iff\'l-l'vl:l'l—"ﬁ_eﬁq'[

3. being empathetic / ?IBF;P-‘[H RSP G

4. being defensive / TWW

Correct Answer :-

« being empathetic / ﬂ%‘lﬂ"—ﬁa R g

8) What is an infant likely to suffer from if the mother consumed large amounts of alcohol during pregnancy? / 3R U & SR AT

TSI AT W IRTE BT A Har ], ) R 1 71 JHaE g B U 32
1. Prenatal retardation / ¥¥9d U:Cf Haar

2. Fetal withdrawal syndrome / 90T CILE] ﬁl@'ﬁl

3. Fetal alcohol syndrome / Y01 He] RigH

4. Perinatal alcohol syndrome / FFadTciH Hel RigH

Correct Answer :-

+ Fetal alcohol syndrome / YT HeJ ﬁl?;m:f

9) What strategy should a teacher use in a situation when the student is being impolite? / ®TT * i) grom o fRufa & U e &1 v
Torifa 1 TR AT AT

1. Punishment / §8

2. Remind the student of classroom norms / B&T A B ST &1 ATG fGa™T
3. Argue with the student / ST & 1Y I1e-fdare Bl

4. Express shock / myfafdd HR S

Correct Answer :-

« Remind the student of classroom norms /$&nfﬁuﬁrﬁ€§rﬂiaﬁm A

10) What is the term given to describe the conditioned stimulus before classical conditioning occurs? / FARIE A HS I8 | Ugd

ST IASHT BT Ui FIA & T HI-971 W feu mar g2
1. Natural stimulus / U@—WB%T!HT



2. Unconditioned stimulus / {JsTd AT
3. General stimulus / GTHR FASHT
4. Neutral stimulus / TE®] T

Correct Answer :-

« Neutral stimulus / TE&f ITASHT

11) What is the set of linguistic rules that govern the use of language for communication called? / m frow @1 98 - qq=q Al
HAR & g yTeT & v ) fFrifa svar 87

1. Grammar / TR

2. Phonemes / a9

3. Pragmatics / IufaTaTg
4, Syntax / dTI [CEIR]

Correct Answer :-

« Pragmatics / IuAfaraTe

12) By the age of six months, infants are able to do the following, except WAE 'Flﬁ% @t g d&, ﬁ'l'{[ Rmama & fAfeafaa &1
FA AT AN

1. Babbling / Id@HT

2. Crawling / Ud & & =T (ShITeRT)
3. Situp / S

4. Eat solids / 319 UaT1d @1

Correct Answer :-

« Crawling / Ud & & 9@ (SBITeHT)

13) When social beliefs are transferred from one generation to another, it becomes part of: / S JqrATTS ATATSH B1 Th tﬂ'«ﬁ q Q'QT\& Tﬂ'fﬂ I
RiTafd far srar 3, df g sueT e a7 S §:

1. Transmission of culture / ﬂﬂﬂ—ﬁ T YR
2. Social mobility / ATHTIE Tfa=terd

3. Social change / gt giad=

4. Individual development / fgaTd faer™

Correct Answer :-

« Transmission of culture / WW BERUI

14) Personality is measured based on approach./ Hfcaea I RSB0 F TR YR ATIT ST %I
1. Ideographic/ fr=1&R fawas (\H'Ié'%ﬁf ithd)

2. Socio-radical / W—Wqﬁ

3. Surface-radical/ ﬂﬁ%ﬁ-m?ﬂ

4. Nomothetic/ Fraam=ath Iurme (:ﬁ'mm

Correct Answer :-

« Nomothetic/ Tt Iurm ()

15) In which of Piaget’s 4 development stages is object permanence developed? / TraTst & 4 fApTe srawmali # A fory srawm # ad i
fawfa g 82

1. Formal Operations / e Aigrards
2. Concrete Operational / %W
3. Preoperational / Ujm



4. Sensorimotor / 3~ ST

Correct Answer :-

o Sensorimotor / Eﬁﬁﬁlﬁﬁ

16) Piaget’s Pre-operational stage is from ./ forarst w1 qa‘-a%um SART__ %I
1.7-11 years/7—lla'5f

2. 11 years and above / 11 aﬁu‘q’ 3P

3.2-7years / 2-77:!'5?

4.0 -2 years /0-2 GL|

Correct Answer :-

. 2—7years/2—7a'5f

17) Who said, An intelligence is a “biopsychological potential to process information in certain ways in order to solve problems or create
products that are valued in at least one culture or community”. g bel, g'@'l:ﬁﬂ "IN BT Td P AT HH A HH Th m q1
TS W euaT= SWTE! Bt g1 & T $8 a8d] A WHSRI &) TO1iid #34 & e S waamfae eamar g

1. Gardner/ TSR

2. Willinghany fafergs
3. Callahan/&ea

4. Sattler/ @?ﬂ?

Correct Answer :-

« Gardner/ SR

18) According to Psychosexual developmental theory, failure to successfully complete a partlcular stage would result in: / AT faer

Rizia ¥ UK, T AL =101 ) Shadargde IR1 6 § fwedr »
1. Fixation / RRR&0T (flreiem)

2. Libido / BTHIIST

3. Electra complex / Taiag] HARITY

4. Oedipus complex / 3NfSTT U

Correct Answer :-

« Fixation / RS0 (frer)

19) By what age are children likely to make friends? / fPasuds=m AT & TRP ﬁ% ??
1. Four years / IR EL

2. Three years / GG aﬁ

3. One year/Qa’Ta'Bf

4. Two years /& GL|

Correct Answer :-

« Three years / RIGEL

20) is the main determinant of cognitive development and learning. / TS AP 3R Sftrry ®1 qsa fAule 81
1. Values / 3[gToad

2. Beliefs / HI-dT
3. Principles / Jgid
4. Culture / m

Correct Answer :-



+ Culture/ ﬂ'@ﬁ

21) If a child has difficulty putting words down on paper, it may be due to a learning disability. The best instructional strategy to implement in a

classroom to support children who struggle with writing would be to: / gfe fFdt o= & Wl & P W @ d m gt %, K
aﬂinma&mm%gwﬁwﬁmﬁl AT P Y Y HA 10 T BT G FIA F 0 Fem W a6 $A g 99 S SIARTHD

1. Provide more time on task/ T TR 3{f T U BT

2. Provide extended periods of time in the resource room to receive one-on-one assistance/ -3 e rdl Urtd AP %I'Q 1Y D& o g ot
fawaiia srafd wgm B

3. Provide peer tutoring during writing time/ A GHT F R ﬂ%ﬁb_rﬁ- IR UGTT PRI

4. Provide detailed directions and graphic organizers to help with structure./ T & WTY HEE P & oY fawqd e 3R it smaieies uem
FHAT

Correct Answer :-

« Provide detailed directions and graphic organizers to help with structure./ AT & 1Y Heg HRA & forg ﬁﬁﬁ o 3R Wthep STaISIh U

22) The variable that the scientific investigator changes or manipulates is called:/ dg AR L %srrﬁa? IS deddr % a1 %ﬁb—{ Pl %, 3
HET Tl 8:

1. independent variable/ Tdd TR

2. responding variable/ SURGI TR
3. Control/ HTH

4. dependent variable/ ST =R

Correct Answer :-

« independent variable/ T TR

23) The mental networks that children form in their mind is known as: / T & ﬁ'ﬂT‘T koo ‘q'r?r RIS %:-ra% 3l ELESUS o SET ST %:
1. Impulses / 3T (ZUcq)

2. Archetypes / 3TeReY (m)

3. Maps / GIPhT (ﬁﬂ)

4. Schemas / TR (T 1HT)

Correct Answer :-

o Schemas / uReerT (Wﬁtﬂ)

24) Which animal was involved in Pavlov’s experiment of classical conditioning? /

UITAd & FATRIBS B3 IR P JART F HI-AT AGR AT UT?
1. Dog / Gl

2. Pigeon / HER

3. Rabbit / @

4, Rat/ gl

Correct Answer :-

25) Which of Erikson’s stages of psychosocial development involves the development of a sense of competence? / qﬁm%mﬁmﬁm

e & frw axor & wfoaifrar 3t wramn &1 faer afdfem gar g
1. Autonomy vs. shame / XTI FTH Tl

2. Industry vs. inferiority / JYNT S g

3. Generativity vs. stagnation / STIHD AT §-TH R

4. Initiative vs. guilt / 9g <l §-H aﬁm



Correct Answer :-

« Industry vs. inferiority / JYNT S g

26) Which of the following is not a hindrance to creativity? / Frafafeaa S s wAEsar & e s 3raR1Y Y %?
1. Divergent thinking / IRERIES

2. Functional fixedness / BT fRUR SR

3. Convergent thinking / SR I

4. Mental set / HTRI® ¥

Correct Answer :-

« Divergent thinking REPEIC]

27) Which of the following disorders is caused due to error in cell division?/ PIRrBT fauTe o Zﬁ' ¥ R Fafafed § 9 F9-ar fier
FaTe?

1. ADHD / TSIT=S!

2. Dyslexia / fewafeaa

3. Autism / 3fifesH

4. Down’s Syndrome / Ww
Correct Answer :-

« Down’s Syndrome / S13 RI=g1H

28) The practice that legitimizes powerful men’s dominant position in society and justifies the subordination of the common male population and
women and other marginalized ways of a being a man is called ./ dg Udl i TS § rfeRT=ITe g'\‘»'ﬂh P gyTE FRUFY Y 34 T %
3R AT T3 STaTt 3R Aigenail & Srefi=ar o ey uerm w8 3R Uh U3 811 & 3 WHid aiid] &1 Ca RS IGIR

1. Femininity/%ﬂa

2. Emphasized femininity/wmﬁhqa:ﬂ
3. Complicit masculinity / EIGRIEL

4. Hegemonic masculinity / RTI-e T

Correct Answer :-

» Hegemonic masculinity/%”ﬁlﬁaﬂ_m

29) What do you mean by curriculum? /W'\q STYPT WW@HT%’
1. Sum total of the activities of a school. /ﬁ@ﬂ@f{ nfafaferal &t gHwE
2. Sum total of the annual study. / ITfYe S{ETT B FHIT|

3. A child learns through curriculum. /WWW@ WW% |

4. Indicates the course to be taught by the teachers to the students throughout the year. /@aﬁﬁﬁ&lﬂﬁmmaﬁ Ugll S 9T UTushY B
A FRAT R

Correct Answer :-

« Indicates the course to be taught by the teachers to the students throughout the year. /@ﬁﬁﬁmmmﬁ UelU S 9T UTeushH B
A aRargl

30) Students can overcome their misconception for the long term through: /
farenf Srafafy & fr aremm @ oA sfa srmurRUmSet & UR uT wHa §
1. Traditional teaching / TRUR® FRI&0T

2. Standard teaching / HI fRremor

3. Refutational teaching/ FRTHRuT g

4, Conventional teaching / TRURNTA fRrgror



Correct Answer :-

« Refutational teaching/ FRTEHUT fRrefor

Topic:- General English(L1GE)

1) Which one of the following is the correct reported speech of the sentence below?
Sangeeta said to me , ™ Will you join me for the movie?”

1. Sangeeta requested me would you join me for the movie?

2. Sangeeta enquired would I join her for the movie.

3. Sangeeta asked me that if I would join him for the movie.

4. Sangeeta asked me if I would join her for the movie.

Correct Answer :-

» Sangeeta asked me if I would join her for the movie.

2) Read the content carefully and answer the questions given below it:

The Mahabodhi Temple is a Buddhist temple in Bodh Gaya, Bihar. Lord Buddha is said to have attained enlightenment at Bodh Gaya. About 200 years
after Lord Buddha attained enlightenment, Emperor Ashoka visited Bodh Gaya with the intention of establishing a monastery and shrine. As part of the
temple, he built the diamond throne (called the Vajrasana), attempting to mark the exact spot of the Buddha’s enlightenment. Ashoka is considered the
founder of the Mahabodhi Temple.

What material is used in building the Vajrasana?
1. Diamonds

2. Bronze

3. Gold

4. Silver

Correct Answer :-
« Diamonds

3) Read the content carefully and answer the questions given below it:

The Mahabodhi Temple is a Buddhist temple in Bodh Gaya, Bihar. Lord Buddha is said to have attained enlightenment at Bodh Gaya. About 200 years
after Lord Buddha attained enlightenment, Emperor Ashoka visited Bodh Gaya with the intention of establishing a monastery and shrine. As part of the
temple, he built the diamond throne (called the Vajrasana), attempting to mark the exact spot of the Buddha’s enlightenment. Ashoka is considered the
founder of the Mahabodhi Temple.

Where is Mahabodhi temple located?
1. Bodh Gaya

2. Jaipur

3. Delhi

4. Raipur

Correct Answer :-

« Bodh Gaya

4) Read the content carefully and answer the questions given below it:

The Mahabodhi Temple is a Buddhist temple in Bodh Gaya, Bihar. Lord Buddha is said to have attained enlightenment at Bodh Gaya. About 200 years
after Lord Buddha attained enlightenment, Emperor Ashoka visited Bodh Gaya with the intention of establishing a monastery and shrine. As part of the
temple, he built the diamond throne (called the Vajrasana), attempting to mark the exact spot of the Buddha’s enlightenment. Ashoka is considered the
founder of the Mahabodhi Temple.



Who was considered to be the founder of Mahabodhi temple?
1. Ashoka

2. Jhansi Rani

3. King Pratap Varma

4. Sri Krishna Devarayala

Correct Answer :-
« Ashoka

5) Read the content carefully and answer the questions given below it:

The Mahabodhi Temple is a Buddhist temple in Bodh Gaya, Bihar. Lord Buddha is said to have attained enlightenment at Bodh Gaya. About 200 years
after Lord Buddha attained enlightenment, Emperor Ashoka visited Bodh Gaya with the intention of establishing a monastery and shrine. As part of the
temple, he built the diamond throne (called the Vajrasana), attempting to mark the exact spot of the Buddha’s enlightenment. Ashoka is considered the
founder of the Mahabodhi Temple.

After how many years Ashoka visited Bodh Gaya after the enlightenment of Lord Buddha?
1. 200 years
2.400 years
3. 500 years

4. 300 years

Correct Answer :-
« 200 years

6) Read the passage carefully and answer the question given below:

Sahejapur is a small village on the banks on the Ramganga river, one of the largest tributaries of the Ganga. Nilkanth arrived on the river banks where
the entire village had gathered to witness the monsoon rise of the river. The waves crashed against the large boulders on the banks, making noises
that would have scared even the gods. Since it was time for Nilkanth’s afternoon’s prayers, he decided to bathe in the river before sitting down for
meditation. Nilkanth walked towards the elevated river. The villagers tried to stop him by scaring him with fatal stories of the last monsoon, but
Nilkanth was unperturbed. To everyone’s amazement, the river’s waves calmed at the touch of Nilkanth’s feet. Even as he waded deeper into the river's
waters, he remained afloat on the crest waves. It was as if the river was accommodating this young yogi’s desire to bathe in its water. Nilkanth
finished bathing and returned to the shore. The river’'s waves picked up speed and height again, seemingly aware that Nilkanth had completed his bath.

Which of the statements is not true according to the passage?

1. The river remained calm after Nilakanth’s bathing

2. Nilkanth had decided to bathe in the river before sitting down for meditation
3. Ramganga river is one of the largest tributaries of the Ganga

4. The waves of the river resumed to show her fury after Nilakant’s bath

Correct Answer :-

o The river remained calm after Nilakanth’s bathing

7) Read the passage carefully and answer the question given below:

Sahejapur is a small village on the banks on the Ramganga river, one of the largest tributaries of the Ganga. Nilkanth arrived on the river banks where
the entire village had gathered to witness the monsoon rise of the river. The waves crashed against the large boulders on the banks, making noises
that would have scared even the gods. Since it was time for Nilkanth’s afternoon’s prayers, he decided to bathe in the river before sitting down for
meditation. Nilkanth walked towards the elevated river. The villagers tried to stop him by scaring him with fatal stories of the last monsoon, but
Nilkanth was unperturbed. To everyone’s amazement, the river's waves calmed at the touch of Nilkanth’s feet. Even as he waded deeper into the river's
waters, he remained afloat on the crest waves. It was as if the river was accommodating this young yogi’s desire to bathe in its water. Nilkanth
finished bathing and returned to the shore. The river’s waves picked up speed and height again, seemingly aware that Nilkanth had completed his bath.

According to the passage, the villagers had thronged the river banks to
1. All of the above

2. watch the waves rising up in the river



3. be amazed at Nilkanth's feat

4. witness the monsoon rise of the river

Correct Answer :-
» witness the monsoon rise of the river

8) Read the passage carefully and answer the question given below:

Sahejapur is a small village on the banks on the Ramganga river, one of the largest tributaries of the Ganga. Nilkanth arrived on the river banks where
the entire village had gathered to witness the monsoon rise of the river. The waves crashed against the large boulders on the banks, making noises
that would have scared even the gods. Since it was time for Nilkanth’s afternoon’s prayers, he decided to bathe in the river before sitting down for
meditation. Nilkanth walked towards the elevated river. The villagers tried to stop him by scaring him with fatal stories of the last monsoon, but
Nilkanth was unperturbed. To everyone’s amazement, the river's waves calmed at the touch of Nilkanth’s feet. Even as he waded deeper into the river's
waters, he remained afloat on the crest waves. It was as if the river was accommodating this young yogi’'s desire to bathe in its water. Nilkanth
finished bathing and returned to the shore. The river’s waves picked up speed and height again, seemingly aware that Nilkanth had completed his bath.

Why was Nilkanth at the river bank that afternoon?
1. He followed his people wherever they went

2. He was keen on showing off his yogic skills

3. He wanted to bathe before offering his prayers

4. He too wanted to witness the monsoon rise of the river

Correct Answer :-
* He wanted to bathe before offering his prayers

9) Read the passage carefully and answer the question given below:

Sahejapur is a small village on the banks on the Ramganga river, one of the largest tributaries of the Ganga. Nilkanth arrived on the river banks where
the entire village had gathered to witness the monsoon rise of the river. The waves crashed against the large boulders on the banks, making noises
that would have scared even the gods. Since it was time for Nilkanth’s afternoon’s prayers, he decided to bathe in the river before sitting down for
meditation. Nilkanth walked towards the elevated river. The villagers tried to stop him by scaring him with fatal stories of the last monsoon, but
Nilkanth was unperturbed. To everyone’s amazement, the river's waves calmed at the touch of Nilkanth’s feet. Even as he waded deeper into the river's
waters, he remained afloat on the crest waves. It was as if the river was accommodating this young yogi’s desire to bathe in its water. Nilkanth
finished bathing and returned to the shore. The river's waves picked up speed and height again, seemingly aware that Nilkanth had completed his bath.

What amazed the people?

1. The river’s calmness as she touched the yogi’s feet
2. The ritual of the river rising and falling

3. The waves crashing on the boulders

4. The monsoon rise of the river

Correct Answer :-
» The river’s calmness as she touched the yogi’s feet

10) Fill in the blank with the correct option to complete the sentence:

, haven't they?
1. The spectators has taken their seats
2. The spectators hasn't taken their seats
3. The spectators have taken their seats

4. The spectators haven't taken their seats

Correct Answer :-
e The spectators have taken their seats

11) Fill in the blank with the correct option in the given sentence:



A river that flows into a larger river is a --tary.
1. epi--

2. tribu--

3. projec --

4. orbi --

Correct Answer :-

e tribu--

12) Fill in the blanks with the correct option in the given sentence:

Innovat-- is the key to business surviv --.
1. --ively ... —-es

2. --ions ... --ed

3. --ion ... --al

4, —-ive ... ings

Correct Answer :-

13) Which of the following options best combines the given sentences?

My result was published. It was in a newspaper. The date is tenth November, 2017.
1. My result was published in a newspaper on 10th November 2017.

2. My result was published on tenth November, 2017 and it was in a newspaper.
3. The date is on which my result was published is tenth November, 2017.

4. On 10th November, 2017, in a newspaper my result was published.

Correct Answer :-

* My result was published in a newspaper on 10th November 2017.

14) Choose appropriate articles for the given sentence:

They built ____ underwater tunnel for pedestrians below ____ Thames River.
1. No article required ... the

2. an ... the

3. an ... no article required

4. a... no article required

Correct Answer :-

15) Choose appropriate article for the given sentence:

Tamil Nadu is a beautiful state where sun shines brightly.

4. no article

Correct Answer :-
o the

16) Choose the appropriate option that rewrites the given sentence in its passive voice.



Burning gasses propel a rocket up or forward.

1. Up or forward movement propelling is by burning gasses by the rocket.
2. Rocket is being propelled up or forward by burning gasses.

3. Arocket is propelled up or forward by burning gasses.

4. A rocket propelled up or forward by burning gasses.

Correct Answer :-

e Arocket is propelled up or forward by burning gasses.

17) Choose the appropriate synonym for the highlighted word in the given sentence.

He has become an icon in the movie business.

—

. villain

2. idol

w

. antagonist

Eal

reflection

Correct Answer :-
¢ idol

18) Choose the appropriate tenses to fill in the blanks in the given sentence:

the award from the President, he ______ to underplay it.
1. Receiving... was wanting not
2. Receiving... didn’t wanted
3. After received...wanting

4. Having received... didn’t want

Correct Answer :-
» Having received... didn’t want

19) Choose the appropriate antonym for the highlighted word in the given sentence.

How do we eliminate the malodor from the room?
1. exclude

2. banish

3. accept

4. freeze out

Correct Answer :-

e accept

20) Choose the appropriate conjunction for the given sentence.
I did not go to the movie _____ I had already seen it.

1. until

2. but

3. 50

4. because

Correct Answer :-

» because



21) Choose the appropriate prepositions for the given sentence:

Educating children ____home as an alternative _____ formal education is an option chosen ____ many families.
1.in..to..into

2.at..to.. by

3. at ... against ... in

4. from ... to ... for

Correct Answer :-

22) Choose an appropriate modal for the given sentence:

Some cricket fans have done anything to watch the match yesterday!
1. would
2. must

3. will

4. could

Correct Answer :-

* would

23) Choose an appropriate determiner for the given sentence:
student was distributed a pen on my birthday.

1. Each and every

2. Few

3. Al

4. A few

Correct Answer :-

e Each and every

24) Choose the option that best explains the highlighted expression:
The bottle-opener’s a dead loss.

1. useful stuff

2. worn out in parts

3. useless

4. dead material

Correct Answer :-

» useless

25) Choose the most suitable pronoun for the given sentence:
Did you do all the work by ?

1. oneself

2. myself

3. yourself

4. herself

Correct Answer :-

» yourself

26) Read the sentence carefully and choose the option that has an error in it:



One of the students were blind.
1. One of

2. were blind.

3. No error

4. the students

Correct Answer :-

» were blind.

27) Choose the appropriate tense to fill in the blank in the given sentence:

Although it throughout the night, the sky was clear when the IPL match started.
1. have been raining

2. was raining

3. has been raining

4. had been raining

Correct Answer :-

» had been raining

28) Rewrite the following ch

ging the active sentence to passive.
I begin my work daily at 10 o'clock.

1. Work is begun by me daily at 10 o'clock.

2. My work is being begun by me daily at 10 o'clock.

3. My work has been begun by me daily at daily at 10 o'clock.

4. My work has been begun by me daily at 10 o'clock.

Correct Answer :-

» Work is begun by me daily at 10 o'clock.

29) Choose the option that substitutes the given phrase appropriately.
Dance or musical performance

1. Drama

2. Docudrama

3. Street play

4. Recital

Correct Answer :-
» Recital

30) Choose the right tag:
He will help you, ?
1. won't he

2. won't you

3. will he

4. will you

Correct Answer :-

» won't he

Topic:- General Sanskrit(L2GS)



1)

uR=de afscal Tty AgHcc A -

fgATer: HER Hafed: gdd: 3T | U #ARd 3cadedl f&fr add |
3T FTAT: Y Wed GAT IRgan: faseled | ger @ seafd dar
TAY H5on A THTARA | AT Hafed: A5 TS AT
grBEIsTed | 3T 30 UTher: Mg eAgiehan: @fed - drsgelsa,
BN, #Fhle], YN, 3ooqulr, olen@: s | feAe™e #is
HAdlel AT Fiod | TAT A HAAIR-HI-TF=T- [RIFelT-HGU-TGaTel-
AAITel-3TeHIST-CTToA [ SIT-h>aAS I cTTGT: | AT T FHhe:, Felrer:,
hENEATY: ScArelal qiganfor crefifer RaATerr va faeged | erdg, faurer-
Sadl-Tegdlecy: feAledd e fdffesfea 1 adeiG: #Raeg
faererea s sue g@ruead | feATeR”d ag\ﬁ‘ 3o gfead I
3TTOIAT: AT e Wigled | d: Jal: 3T IEHATT HIeS AT :
| feATIEAT: TXG: UGUT: WdRd ITAST  Hd-aTdiG-3Telic-ard-cheR-
TeIdilel 3EIUIAR] Ugrle] Iesied | fgATerard fafdem: @idsraeram: 3T
aed | feATeraTd fAfdum: Hegaed: amom: AT wRed | fgEre:
IEATH SAET UEdr ATEd |

o: sT: fedATor e gAY o Toad ?



Yoliehl UfScar sreifAfesera weaed YgH el Fadd -

USdl AT AW SAUdl AT Ideha|
HifsleT: shelg! AMEd o HI ATEA STId: |
fearel Tara Al T sresish Safea:|
TRIAITeeIgehsel] A favaAREd |

HET Felg: AT ?

o

)
¥ AR JAIde e AH-

1.
. EEIMIED
AN [
hlehlelan|UH
3. o h
K TUREALCT:
4. -

1. -Qa;:

, Thd

_ UeRTEA
, Tl

Correct Answer :-



=i ufeaar yeaey gegagcdi qad -

e Fdl A FIAGSTUET | TEIT FIAHT A AT | TAhaT
HEAT gfdhed e TRIed: TaRRTNT: Fletredi TRIEJYEY: TeT:
5@l Fgr: A fAdfeanra | T T gidegeEEeey - ¥ X

HIAhYEST:, IS IRIAd FAIRIesRelical YerARIT ARIT | ddl

2

TSI ATARYEITTIRIANT: YAARI gl: | Iqeifsaed- T I ardhge:
TARTART JOANHAEAT T | Sail Tl Hegdsl Aaffdical A ARA |
TcAlsgHART Hecll [dedl S=ma | AfY Fd @istd i | Tem g ar
TElcar AT ARIG | d fae@m Al fassd | @iddr Fd: - T IR
QETEIH, JUEATAAG ST | fohaAdisf@ Shifadqfazsfa ? & fagzr smefa
? Y a1 TaTHEey faedn s[rell FEITeAr ? T 3are - T ’iger: o sper
AT hdfAced 23 Toll ARATT deraed del Fededl HAgdd
ﬁmlﬁamﬂﬁwwmﬁqwm ;|
AT INET gdet: TaMABRIGIde alcih: &N ardr Tt fAdfedr |




9cllehl Ufacar renfafcsesa vt ‘gagaj,cdi qaaqd -

3ucedicd O I AfaaedcaciaeT: |l

g:@'g hIger: 343?[ ?

ACEGLIE

1, 2

agqﬁ:‘ldﬁaﬂm:

2

3G AIAHAT:

4, -~

Correct Answer :-

agqﬁ:‘ldﬁaﬂm:

Yolichl gfSeaT JfAfEsery Teaed qgecad YA -

7)

USAl AT AW ST9d! A UTceha |
AMfAeT: Fctgl AT o 87T AT STrc: |l
fearelt Tarq fHanrh Tarq sesitel Safes:|
TRIARTe gl AT fauaArRE=Idl

FIesielT scaeT st -

| GEIHATSAT
MECICEIE])
, THBTTHISAT

Correct Answer :-

AT



8)

aR=d afScar U AgHcR FIA -

I HEdl AH PGS | TET GUATd AH IR | dAhal
HEAT IfARET & TRIed: TIRITART: FletedmY TRMIFGIIY: e
gsTelel @ U fAdfeara | wer T gaegeEEfedy - ¥ ¥
IIAhYET:, TS IREATH IR Riical qrARTT ARIT | ddl
ST OTThYENTAILIANT: YAARIT §cl: | Tdfsded- ¥ T aidhge:
TARTART FEANAGAT T | Feil [Tl #Hegdsl Aafdcar A ARIA |
TcAsgHN Hedl el SAMH | ARG Fd Hstd TATT | Tl o i
TElcdT AT ARIG | de faeam Adds fasdd | aidehr F9: - ¥ 9R
JITEH, JURATAR s | fhadsf shfadfAzsfa ? & faggr senfa
? % a1 JATUHET fdedn {uTeled FgIdedr ? di 3ard - ¥ RIS CAE foh s
NSRRI wfesd 7gie Tell ARATT deaed el TG Hegcd
ﬁmlﬁ?amﬂﬁaﬁrwmﬁqmm wed: |
e dRET adet: TafAGRTEIT aidsh: @ ardr et fadfedr |

IR HAd T I -



TRede IfScal Ueaed AGHN I -

feATerd: HOR @afed: udd: A | UV: #ARA 3cawed Bfr add |
&Y 3T YSIM: Hed fed aiigdn: fassfed | Fer ¥d: 3eafd dar
Ty Az A gHTARS | fRHTOIEy wafed: A TlsT S
yrAGIsid | 3T 38 URher: A3 faerstaan afed - wsueersa,
B, Heblol, UG, 3eaAqul, dlefaiil: scaEa: | RACREE HIs
3HeAshllel RO Hiod | AT TEG-HAT-HI-TFT- FFelT-HG -1l -
AATTe-3eHIST-GI T [ISIT- R Aol ScAGd: | dAT T gIher:, Seli=ma:,
heNEATY: Sodielial giaanor drefifer oo va facged | ercg, faurer-
SAd-Uead@eed: [gAC™ Ta Heesied |d: @idee: SR
faererer s Rsa @Fvead | AR SgfA sRvat afed a7
K EIEGINGIGIERIE ga: WRigled | o qﬂwmww
| RACEEAT: TG UGU: ddRd JAEAFT  H9-aldie-3Talic-ard-gheR-
TeIcile] OIS, Yarde] Ieafed | feamerara fafaun: @fseuert: sifa
3ded | AT fafdum: HAedded: 9O U Ued | AT
3TEATR ST Ugd 3TTed |

‘ feTesfed 3T & deR: ?
sie

1. =

CES
2. %

S
3 0%
aaﬂ
4,

Correct Answer :-

F

Correct Answer :-

, ST



1

‘)Zlﬁﬁl‘c}r gfScdT TRATT YA FIIA -

Ao §OR Hafed: gdd: AT | TN $IRA 3ca&dr Gfer add |
3T FeAn: Y Hod RAF gRgan: fassfed | ger @ seafd dar
TAY Aol A THTARIT | AT gafed: 5 TalsT Al
ufagIsfed | 3T 3y ufder: H3am: fAwgfedn: afed - smaesrs,
CBId, Hblel, TYINY, 3eaqoll, olenf@iy: scAed: | AT @IS
il AT Ffed | TAT - ATIR-HI-TF=T- RIFeT- A - aTgare-
W—W—W—wmaggdn ScUGT: | JAT T THIHA:, SEJATT:,
hERATT: SN afa=ifor el feared va fdegea | oy, faurem-
Ad-TegHlEeIey: RARRE Ta fdesled 1 ada:  #ARAE
faerered spered f@suel @Fgead | fRATeR agia 3NvaAT afed I
31ETTOTAT:  SATATIIET: ga: Wigled | o q@f ag ?WUTF‘I IS L CEE
| TEATORITAT: TRE: UGUn: odiRd  ITASY  He-aTdIG-J&C-ard-hiR-
TeIdilel 3WEIUIAR] Jarle] Iesied | fedATerard fafdem: @fdsaeram: 3w
aded | feATerard. fafdur: Hedded: wiwom: HAU greded | @
3TATR ST gl AfEd |

el



U=ade UTScar UEeTEd gagagcdi gad -

IR Pl A FIAGSRT | TEIT JUA AH AR | TARaT
HEANT Ifdhed ¥ TRIed: TcdRRINT: FletediR TEqIey: UTedT:
5Tl Fgn: A fAgfearg | Tem T oArdegREEfedy - ¥ X
HIAhYEST:, Tqsi AR AINEgiRelcal AR ARAT | ol
AT amw%’lﬁma’m YAIARICT &T: | Tedfsaed- T T adehgesT:
TN gmrf%‘é?n g | 3Gl USE #Aeaasd Aafdcr A ARIA |
ﬂﬁs@ﬁﬁﬂﬁﬁ@ﬂﬁﬁlﬂﬁfﬂﬁﬂsﬁiﬂmﬁlwgﬁ
JelcaT AT ARG | a1 fae@r Ahend fassd | aaw 39 - ¥ IR
TRNTIH, FEFAFAACE | fhactsiy shfagfacsf 2 &1 faaar srafa
? Y a1 Ty faedn s[uTell FEdeAr ? 9 34 - T "ider: o s
SISl s 2afe Tl AAT deded del FgIdedr dgcdid
faear | f& o TacumaTdihaHedt JoASIANT UsOm HIe: Shiied: |
e I et TMARRAR{IS Hicdh: AT aidl T fFdiear |

Afeeredny TEGIey: Td J&T-



Correct Answer :-

HEIAYG -l - ET:

9ellehl Ufscar srenfafésesy ue=1eg ?&l;aaj,cdi oI -

Q:WWW: g@g faeraeye: |
diceeTsTashrer: eardefiafaecad |
defafguitirdsr aRuestsr daar |
Iuceafed O A AfAaedcagiea: |

$:ﬁﬂﬁ'ﬁﬁzﬂ?ﬂﬁ?

3.
) KR CR

Correct Answer :-



Yoliehl UfScar sreifAfdsery Teaed YgHcel Jadd -

Todl AT HWcd SIadl AT AT |
HifsT: Tolgl ATed o 87T a1red SAErd: |l
feamit Tarq fAarl Tarq Fesisr Sdfega: |

TRYARTeSgehsele] JTGHATT [aTAREI|

faarelt scaer e =g -

 Jfgareir
RCIECIN

| JaRfaare
, el

Correct Answer :-

BEIE I



URTdE afScar 9o YA FAId -

feATera: ¥OR gafea: gdd: 31Rd | TW: #RA 3cawedr fefar add |
3T 3TAT: YO HWed oA aRgamn: fasefed | ger g3 3eafd der
TAYT H5Aon fRH THEARd | A gdfed: A3 Talse S
gRAGIsRd | 3 30 ufdan: yzIm: fararstaan afed - wmaessa,
o8N, Hebrol, YN, 3Heaqoll, dienfafil: scaca: | RAERET HI
3l IR0 Hied | FAT TEE-ANA TN -HI- =T TFolT-HAG{T-ITedTel-
mﬁ—m—m—mlauﬂ%g-dll SCIIG: | dAT T gYIher:, Sedene:,
hENEATY: Scdiliel giaanfor crefife feaArord va faeged | e, faarem-
Sad-deganTeey: fearead ta fdffesfled 1 849G #Rawd
faemerey sy Rsad Wuegd | fRAeR Sgfa aRvafa wied I
3TOTAT: AATaeT: & Wgled | o: J&: T IEAAIIT HSS UIeTa:
| RATGEAT: did: UGUl: ofdiRd 3JIEHFT  Jd-dldie-3ieile-ard-sheR-
USIcilel, 3TITTOIe] Yarie] Ieaiod | RATer™dd fafqur: @fdergaram: 3fa
aded | feEerd fafder: Fedaea: omwom: 3T graed | AT
TATH SATT gy e |




gfTe afscar geasy %;egagcdi oI -

I Fedr AH PGS | TET GUATA AT TSRS | dAhal
HEAT IfARET e TRIed: TTRRTIRT: FetedN YRMEYR:  UTeT:
JsTelA Fg: Tt fAdfearT | wem T arasgEEEiegr - ¥ X
IIAhYET:, IS IREAT FIRTedfgllcal YrARTTT ARIT | ddl
TSTAAT FTARYEITAIRINT: YAARIT §l: | Tdeifsaed- T T ardrye:
TARTART FEANAEAT TF | S&il [Tl HAegdsl Aafdcal A ARIA |
TcAIsgHDT Hecll el SAmA | A Fd Astd IATT | Tl o i
Il AT ARIG | do faewm AGeld fassd | @rddr 3d: - T IR
JRETEH, JUAAR IS | fohadisi shfadqfaesfa ? & fagzn smefa
? @ a1 JaAEd Tdedn Tl Teidedr ? i 3ar - T RIGERE fo o
NSRS Ao 2gfe T AATA deded del Fgidedr Jgcdid
faear | f& = TacumETdhededt JoAsTAN vaum He:  hiied: |
TEAE AT aeet: TR Bich: AN adr Tt f@diear |

$|nz||a:|ﬁ 3-]'«?]' QIZ}IIQ#IEI\ -

2. =2 :
3. 33]‘:]('-||q:
, ST

Correct Answer :-

oot ufdaar senNfAfEvesy weAT GHC FIId -

g:@'@@?@ﬂiﬁ: @@g faeraeye: |
dicRreTsrashrer: feuadidfaead i
defafguitardsr aituestsr daar |
Iudedfed O A AfAaEdcag et |

AT AT YT, ?

AT

1.



Yeliehl UfScar sreifafisera weaed gHcel Jadd -

g WsaeIg aIaH T Y fGaraegs: |
dicreTegshrer: eurdefiafaecad I
defafguitiurdsr aRuestsr daar |
3UceTTed o T AlATEdcageT: |l

dcacfet: fe 3ucsafed ?

Iucedfed O A Afaaedcag A= |
A: ScRTA 31 317 F: Asa: YIFA: ?



23)

Yoliehl gfSeaT JeNfATEseT Teaed qgecad Y -

USdl AT AW STad! AT UTcdeha |
AMfAeT: holgl AT o o7 T SATard: |l
fearel T fAarh Tarq sesitel Safes:|
TRIARTr gl AT fauAREIdl

HEAT UTcleh ATed 2



Ig-q"amzr TITaEaT 3fEd-
. U

_ &aTeRl

ol

\ ddaRT

Correct Answer :-

1 2 >
dd:
, o



= 9fdScar 9o gagmi qEad -

IR Pl A FIAGTSRT | TEIT JUAt A TSR | TARaT
HEANT Ifdhed ¥ TRIed: TdRRINT: FletediR TEqIey: IedT:
JsTel FEn: A fAgfeara | TS T oadegEEEfedy - ¥ X
gIThYeT:, AT TRAE AIRIGS Reical YeIARTT ARIT | Tl
STAAT ETThYIITIIRIN: YEARICT &l | Tqeifsaed- T T arderge:
TIANT ISAIMAEAT TF | Felell o Aegdsl Aafdcdl Al ARIA |
TcAsgHDT Heal el A | A Fd AsEd IRATT | ol o i
Jelcar AT ARG | I fag@r Ahend fased | @aw 39 - T IR
TN, TEFAFACS | fhActsiT shfadfacsfa ? &1 faqar srefa
? Y a1 qATHAEy faedn s{Tell FEIdeAr ? 9 3ar - T ’ider: o o
PISThIISTT hdfAcsy 2afe e ARI(T derdaed ded Teidear Agdid
faear | f6 o Tacumardiherdsdt JoAsIANT UsUm HIe: Shiied: |
AAETET ARET aet: Wﬁa:mﬁaﬂﬂrrr ;T A T A |

TEISAT AT T I 3ed-

1 o=

® oot ufSar senfafEsesy geae YEHA! FIAd -

USdl AT HWed STad! ATEd ITcdeha ]|
FIfAT: dhelgl AET o 8 AIET SATId: |
fearel Tara fAanh T FrsilsT Sdfead:|
TRIAIe gl JIGHATE fauaATREI |

Safega: sy gamEsiET -
FEU:

1.



29)

URTdE ufScar 9o YgHcc Faad -

e §9R @afea: Udd: ARG | TN 8RR 3cai&dr R aad |
3T I Y Wed fgHe afgdan: fassfed | aer ¥ 3eafd dar
TAYT HSN0N RH THTARIT | AT gafed: 45O TalsT AR
yRAGISTEd | 3T 3 UTdar: Mg frAsiehar: @fed - drswelsa,
BN, Heprol, I, 3feayull, dlenfai: scaeE: | AT HIS
eAcdhlel AT dfed | JAT TErg-ATIR-HI-ToT-FRIFT-AGY-ITGaTel-
AAITel-HeHIST-GI TS [ SIT- RIS ScATCd: | Tl T gHIher:, Selierer:,
eIl Scarae afaor deffa Ao va fegea | g, faurer-
NAd-degdleeAey: feAer”d vd feesfed & ades: sRaw
faerera speeT Rsad @Fdead | oA sgfa sRvanle afed oo
3TOIAT: SATaeT: Jaf: Wgfed | o: gat: g IEMAITT HI6S UTeia:
| feATETEAT: GXE: UGUn: ddRY HEAFT  QI-IIdIG-3ETIC-AT-HeR-
TSIl 3TITTOTe Yarle] Teoiod | feaATerard fafaur: @fdsiaeran: 3ifa
ded | feATeRIq fafder: Hogaed: 9O AU Wed | RATe:
HEAT GAET UgdT AT |

‘ ZAGY: ' 5cUF &h: Hioel: ?

. 3T
, T
5, J0T
4, Eﬂ'Ei’:



AR ATET hdl ITEd-

1.

sTasIfa:
2. o

Topic:- Social Science (SSC)

1) Which organization has established the Financial Mechanism named 7he Green Climatic Fund? | fPa I a’EﬁT{ ﬂ?ﬂé’aﬁﬁ BE Y B
fafra yomelt wiifda 91 32

1. WWF / SsggsqUh

2. UNEP / guAsUt

3. UNFCCC / GUAUmHIRIE
4. UNDP / guASId!

Correct Answer :-

. UNFCCC / JuumE T

2) Which Greek ruler or ambassador became Vaisnavite and erected Garuda Pillar at Besnagar? / & TEI'Fﬂ TS T SIgd J Jwrd} FHR
AR H T8 Y I

1. Alexander / 3{AdoIaX
2. Selucus / W

3. Heliodorus / 3ICRITSIRY
4. Demetrius/ m

Correct Answer :-

« Heliodorus / 3RS RY

3) The main objective of setting up a social science library is: / TS ﬁ?ﬂq AN EaN R T B BT s G%W %I
1. For recreation and enjoyment / TR 3R 3fHE & fog

2. As place of preparation for competitive examinations / gl wiemaf &t GRIRER ek R R

3. To enable the pupils, engage in self-study and for reference / faenfifat o w-srema & Jom B iR e & fore gem =T

4. As a common place for independent study / WIS SETT & T Ueh TG SIE & =0 H

Correct Answer :-

« To enable the pupils, engage in self-study and for reference / faenfial o) - sreqg= B Ty R 3R T F fore e s

4) The evaluation which compares a person’s knowledge or skills to the knowledge and skills of a particular group is known as: / g H\FQ'WT-{ St

frlt afda & 17 SR FIRTa & gara faredl ARy Tgg & 7 iR SIvTa A Fear1 8

1. Criterion-referenced evaluation / ATIC.8-HgHd Jedid

2. Formative evaluation / FA0T&® / TeHTcAS® P EICE|
3. Norm-referenced evaluation /3¢ R i



4. Summative evaluation / AT / Hh TS / e HedichT

Correct Answer :-

« Norm-referenced evaluation /31f+c fRTd W

5) Milindapanho text is in the form of a dialogue between the king Menander and Which Buddhist monk? /

fuftieus 3 3o fmvsR ok fra s gy & i aratarg #1quf 82
1. Nagasena /AR
2. Nagabhatta / TfTHg

3. Nagarjuna / AT
4. Kumarilabhatta /Wﬁﬂﬂ-@

Correct Answer :-

. Nagasena / 9T

6) A Commission to review the working of the Constitution was appointed by Government of India under the Chairmanship of ./ HRA

WWHR GRI P Sreaerar # WA F Hrd B aiten & fore e smanT fArga fosar mar am
1. Justice Sabyasachi Mukherji / mTEIHﬁ T wﬁﬁ

2. Justice Ranganath Misra / WWQI s

3. Justice J. S. Verma / :qmqﬁ@rw qAf

4. Justice Venkatachaliah / mmqﬁéaﬁaﬁm

Correct Answer :-

« Justice Venkatachaliah / WW

7) Topics of study suitable for the age, ability and interest of children are included in the curriculum are known as ./ S=I B 1Y,

&t 3R S & fore Suged sreagq & faual &) ureusd & wnita fraromar 8, ™9 weTwar gl
1. Topical approach / TqHR® EfPHIo

2. Unit approach / SPHTS EVPHI

3. Spiral approach / gt =P

4. Chronological approach / Ww GECA

Correct Answer :-

« Topical approach | AT ERHI0T

8) Black money is also known as ./ BT YT P & g H f ST ST %I
1. Dynamic economy / AR srfoqaw

2. Moderate economy / H&H Srfegawy

3. Parallel economy / JHMIR S

4. Stagnant economy / R srfogawn

Correct Answer :-

« Parallel economy / JHFIIR rferae

9) “Nature provides opportunities and human being make use of these” is central theme of which of the following geographical philosophy. /

"YepTe SR USTH Bl @ 3R AT 39S IUUNT F3al 2" 7 A A {5 Winfere axfa=me &1 i fAwg 21
1. Possibilism / HIATG

2. Marxism / ATRIATG

3. Feminism / TRIATG

4. Determinism / Fafdarg

Correct Answer :-



« Possibilism / GHddTG

10) In which case the Court ruled that nobody, not even the Parliament (through amendment) can violate the basic structure of the
Constitution? / T ATHA W uTaTay 7 Baan four i #13 o, et 9@ o Te (W & Aread J) I & 4d e &1 Sewad T81 H
|l 3?2

1. Minerva Mills vs. Union of India / f&Taf fireq o918 YRd d9
2. Mukti Morcha vs. Union of India / Hﬁf Trel g9 YRd I9
3.S. R. Bommai vs. Union of India / T¥. 3R, SIS -1 YRd 9

4. Kesavananda Bharati case / HIdHG YR YT

Correct Answer :-

« Kesavananda Bharati case / DHR[AHG YR TRl

11) Who established the Indian Statistical Institute? / HIRTTd TS HRITT BT VITYAT fora= 12
1. Jawahar Lal Nehru / SIdTgR dTdl ﬁ_ﬁﬂa

2.V.K.R. V.Rao /. &. 3R, d1. 1@

3. R. C. Desai / 3R. T, éﬂ'l%c

4. P. C. Mahalanobis /tﬁ. o, ﬂglﬁ:ﬁm

Correct Answer :-

« P. C. Mahalanobis /tﬁ. 3. 'H?W‘Fhﬁﬂ

12) Who can increase the number of judges if deemed necessary? / afe smaza® JHLAT ST a =ranefi=n F S s del Jhdl %?
1. President / Tl'gq'ﬁf

2. Chief Justice /H@W'fﬂﬂ

3. Parliament / 999G

4, Cabinet / HaHsd

Correct Answer :-

« Parliament / §9¢

13) Who is the exponent of Play-way method? / -3 At & ufoures H9 872
1. Maria Montessori / AT AT

2. Friedrich Froebel / iR Thiad

3.D.W. Allen/ 31, &Y, TaH

4, Jean Piaget /ST ot

Correct Answer :-

« Friedrich Froebel / TS ep e

14) Who can create Vidhan Parishad in a State? / 3750 & faur uRug &1 fAufor &9 o3 9w 82
1. Chief Minister / H'@Tﬁﬁ

2. Governor / g4Il

3. Cabinet / HHsd

4. Parliament / §9¢

Correct Answer :-

« Parliament / ¥9g

15) India Gate was built as a memorial to the soldiers of . 3'%'(” el & Afe! &t Wﬁf | Th HRD &% ¥q A F491a1
T YTl



1. World War I Wﬁ'ﬁg&'

2. Indo-Pak War 1965 / HRd-UIP i 1965
3. Bangladesh War /aﬁm g

4. World War II / G¥R favagg

Correct Answer :-

« World War 1 /08< faRags

16) _ has the sole right to mint coins. /—35 g R Tlaﬁ DT ETRHTA PR g1
1. State Bank of India / YR we 96

2. The Reserve Bank of India / YR Red §%

3. The Commerce Ministry /aﬁm AT

4. The Government of India / HRd IRPR

Correct Answer :-

« The Government of India / HRd TRDPR

17) is a community-based poverty reduction programme being implemented in Kerala for the emancipation of women. / , P

¥ nfeanedl @1 gie & Rie ve wqeE-snuia et fraro sredwa 21
1. Kudumbashree / W&ﬁ

2. Kudumbayogam / W’mﬂ'ﬁ

3. Kudumbasametham / HSIaTHYH

4. Kudumbavilakku / Hgrafdead

Correct Answer :-

+ Kudumbashree / W%ﬁ

18) evaluation is school based and aims at all round development of the student. / i o 3T URa 8 IR B F
wafior T 1 a8 3|

1. Intermittent / 3TcRII®

2. Continuous and Comprehensive / Fdd 3R TS
3. Periodic / QrARI®

4. Phase-wise / IRUI-dR

Correct Answer :-

« Continuous and Comprehensive / ddd 3R TS

19) The members of the Rajya Sabha are elected for a term of . / TTST GHT & Ao &1 . ¥ prieTd & m ESIRSIGH H
1.6 Years / 6 af

2.2 Years /2 Ty

3.4 Years / 4 Ty

4.5 Years /5 EL

Correct Answer :-

. 6Years/63\5f

20) The Directive Principles of State Policy have been adopted from Constitution. / IToY Hifa & Hifa ﬁiﬁﬁ? el BY F Gl
 SfuTaT T B |

1. Netherlands / e azé’s
2. Swedish / WS



3. Trish / SRR
4. Canadian / FAfeg

Correct Answer :-

o Irish/ Kl ngy)

21) The Pioneer of activity-based learning is J fafafy-smena R & wyw dvw H
1. John Dewey /S St

2. David Horsburgh / e EW

3. Robert Slavin / IeC AT

4. Adam Wesley / T8H I

Correct Answer :-

« David Horsburgh / s ?W

22) The emission of gas as a result of the greenhouse gas effect from various agricultural activities causes negative impact to the

society. / faftra oy nfafaferat & Maerew i & yug & uRumrasy T BT IS IETERYN TR THRIAS THTG ST 8
1. Chlorofluorocarbons / FARITARIGTET

2. Helium / giferad

3. Nitrous oxide / IS¢ &ﬁaﬂﬁg

4. Ammonia / 3T

Correct Answer :-

« Nitrous oxide / 7IR¢H GWWIEE'

23) The technique for generating creative ideas and solutions through intensive and freewheeling group discussion is known as ./ e

3R WIGIRIT Tgaal & Ared [T AR 3R JUIYH SUT FA B dPpib B & ©U A AT SEar el
1. Panel discussion / 39 =i

2. Brainstorming / qi?,?zﬁam

3. Dialogue / a1

4, Debates / Tg-faarg

Correct Answer :-

 Brainstorming / § R

24) The Integrated Rural Development Programme (IRDP) was introduced in . Eﬂﬁﬁ yreior i wrdewa (IRDP)
H 3y g T T

1.1971
2.1973
3. 1966

4. 1978

Correct Answer :-

» 1978

25) Which of the statement regarding Barbara caves are true? / IIRERT 'TFTGﬁ F oy # FrAfaf@a ¥ A s T sy gt %'?
i. These caves are the oldest surviving caves./ g '{Dﬂ'ﬁ GiCE 'ER'F& Sifaa 'ﬂ'lﬂﬁ %'I

ii. They were built during the reign of Ashoka. / DT fAmtor e & =AAeTa A g3T UTI

jiii. They were dedicated to Ajivikas. / & 3refaeT &1 Jwftd I

1. All are correct. / g4t w % |

2. Only ii / Had ii



3.Only I/ $dd i
4. Only iii / Fad iii
Correct Answer :-

« All are correct. / g ﬂﬁ %I

26) Which of the following has highest Albedo? / FETRIET ¥ A fHa®T Yeals! (UPTRITIUTE) Had 31 glar 82
1. Fresh Snow / aml fgm

2. Sand /Xd

3. Forest / a4
4. Dry Soil / g gaT

Correct Answer :-

« Fresh Snow / ?Wﬁ%ﬂ

27) Which of the following was the main objective of first five year plan of India? / fFrafafad 4 @ $19 YRa $ vyw v=adly geqr &1 q8T

S T

1. Service sector growth /@aT 3-337 IEEQR

2. Industrial growth / aﬁ@ﬁ@ R

3. Agricultural growth / ?r'@( fowm

4. Growth in manufacturing / fafator & faer

Correct Answer :-

o Agricultural growth / Q'Tfﬁ fowm

28) Which commission identified 3943 castes as Other Backward Classes and recommended 27% reservation in government and semi

government jobs and admission to educational institutions? / g emanT 7 o=y ﬁw T & T H 3943 Sfaal Fi UgdH P 3R WP qa'
It TR e ok Reifore Tt & war & 27% mRer $t Rwiivr e

1. Kalelkar Commission /W STANT

2. Mandal Commission / H&d 3TN

3. Ramanand Prasad Commission / W RIS &mﬂ

4. National Backward Classes Commission / T@q ﬁ@_sT aif amanT

Correct Answer :-

. Mandal Commission / A& Kot

29) Which Amendment introduced the word ‘Socialist’ in the Preamble to qualify our ‘Republic’. / fora e o gHIR U @Y Srgar uT
P & g, yRaraT § HTeadl Weg oY i fasar war AT

1. 42nd
2. 460
348t
4. 44h

Correct Answer :-

. 42nd

30) Social Science exhibitions, fairs and cultural shows are meant to . | TSR ﬁiﬂ? 'QETZ'H'T, - Gﬁ?’ W EaurEkakan
gl

1. provide a creative channel for learners / ﬁT&ﬂﬁfCﬁ & 1%1? Th JyoHTHD EER] UG HIAT
2. show the talents of social science teachers / WW&TW P gfayT o™
3. increase the reputation of the school / ¥l Eal Qﬁm eI



4. invite and entertain the parents / TTAT-fUAT BT STHEAT 3R FTebT TG BT

Correct Answer :-

« provide a creative channel for learners / ﬁT&ﬂfﬁ & 1%1? Th o IHD EEN] U HIAT

31) To know the opinions of learner’s on the ‘Right to Education’, the teacher uses which of following processes? / e &1 eftrpe fawa w Rrenfat

BT I A & for, Rieres Fafaf@a & @ e uitear o1 3w war @2
1. Shows a video clipping / U difea) fFaftiT fearar g1

2. Gives a project / UREISHT (WIoide) TaT &

3. Conducts a discussion / AT ST FRAT & |

4. Provides a problem / T T T B

Correct Answer :-

« Conducts a discussion / T ST Rl %l

32) The term ‘Civies’ in Social Science text changed to ‘Social and Political’ with the recommendation of: / TS ﬁiﬂq s ® ﬁ'ﬂ' & m YR
RIS YR Vg B TR 3R Ie-ifae’ & gqa faar war. -

1. Secondary Education Commission / areafiies fRem smar
2. NCF 2005 / TTTTW 2005
3. Justice Verma Committee / =T gHf TfAfT

4. NPE 1986/ Q:ld é 1986
Correct Answer :-

« NCF 2005 / TTRIT® 2005

33) “The central function of Social Science is identical with the central purpose of education i.e., the development of democratic citizenship”, was stated by: /

HTRTS Ay &1 FEia 1d Rien & $a Sexa & UM ©, 3rufd, Aeaiie ARTEar o1 faer", 98 e g1 @81 /™ 41-
1. James High / SI%T 8T8

2. J'F. Forester / 91U, THRER

3. John V. Michaelis / ST @I, AT o1

4. Edgar B. Wesley / TSTR &, a%&l

Correct Answer :-

e John V. Michaelis / \_!‘TT:T Eﬁ m

34) In Vedic Era, Akhyani was the goddess of which of the following? /%ﬁw q # «argyui> ﬁ'ﬂﬁl’@ﬂ ¥ I frast aﬂ’f ft?
1. Forests / d

2. Rivers / Al

3. Fire / 31

4. Peace / Tifd

Correct Answer :-

« Forests/dd

35) The scaled-down teaching encounter in class-size and class-time is known as . /ai&ﬂ'a? STPR aﬁvw;n Cakaein) ﬁﬁT&fUT |
AHTH RIS HHI HI, F U Y JFT AT

1. programmed instruction /arnferd EléQ
2. micro teaching/{&H fRrgror

3. simulation /R (3HR)
4. team teaching / <1 fRrefor

Correct Answer :-



+ micro teaching/{&H Rreror

36) Which of the following cities was the capital of India from 1772 to 1912? /
Frafafed & & #1791 weR a¥ 1772 | 1912 9 HRG 31 AU AT?

1. Daulatabad / FNGIEI

2. Delhi / faeeit

3. Bombay / S

4, Calcutta / deichl

Correct Answer :-
« Calcutta / Pl

37) Ahmad Shah Abdali invaded India for the first time during the reign of which among the following Mughal Emperors? / fFafafea gma
TgTel # A f5ud ARTHTa A 3ghe W8 SfeaTelt 3 WRd WR Ugell IR ishHuT fasar ur?

1. Ahmad Shah / 3{gHq Rl

2. Muhammad Shah / 8¢ RMM8
3. Shah Alam-II/ RITg 3TeTH-IT
4. Akbar-I1 / 3{hER-IT

Correct Answer :-

o Shah Alam-I1/ RTg 3HTTH-1I

38) CCE stands for: / ?ﬁ?ﬁ% BT HdAd %:

1. Continuous and Cumulative Evaluation / ddd WWW WEWW

2. Continuous and Cumulative Examination / 9dd @quﬁm W@WQWW

3. Continuous and Comprehensive Evaluation /WHWWW m@m W)

4. Continuous and Comprehensive Examination / dd adl Tfdavur Use (Hi<1-gad TS HIsieRa teeiitmem)
Correct Answer :-

« Continuous and Comprehensive Evaluation /WHWWW (W@ﬁ@%@ﬁw

39) The exponent of theory of multiple intelligences is: /ag-uﬁm fRrgr & ufoures A= &
1. J.P. Guilford / &1. Y. RIeiTs

2. L.L. Thurston / Gd. Ud. YT

3. Howard Gardner / E'\faé MER

4. Robert J Sternberg / e o TeAaf

Correct Answer :-

« Howard Gardner / m‘ SR

40) Branched programming is also known as: / sli<e WRITRT @Y A= A | ot S e 21
1. Intrinsic Programming / Siafe TR

2. Extrinsic Programming / §T&l O

3. Straight line Programming/ el X oenfET

4. Skinnerian Programming / fepafa= vrnfE

Correct Answer :-

« Intrinsic Programming / 3{idiReh B

41) The World Trade Organisation was established in the year ./ T3y =R WA w9 Hgsd




1. 1995
2. 1991
3. 1994

4. 1989

Correct Answer :-
e 1995

42) Which of the following is not a characteristic of Palaeolithic Age? / Faffiifad & & H1H-wt RIuTyTU F1e1 91 T faAwar 8 32
1. The Paleolithic also used microlithic stone tools. / GRTATNTUT EATRHIT URR & 3MeIRI &1 o SHATT vt U

2. During the Paleolithic age hominids grouped together in small societies such as bands./ ERTUTNTWW? SR Eﬁﬁlﬁ@?é’s’ﬁﬁ@%m
U 1Y IEE 3
3. The Paleolithic is characterized by the use of knapped stone tools, although at the time humans also used wood and bone tools. /

RIUTSIU T AR TR F SNSRI & ST J g oIl 8, gTdieh 39 THT TG Adhet 3R g8 & MeR) 1 +f IuahT axd |

4. They subsisted by gathering plants and fishing, hunting or scavenging wild animals./ %ﬁrsﬁﬁwm 3R AT Thed, ISR dvd
T TR §U SHTCH SITeR] 1 Wy Siifad ¥ U

Correct Answer :-

« The Paleolithic also used microlithic stone tools. / RTUTHTUT ﬁ&ﬂTQ"-:ﬂ'q TR & 3Nl &1+t 3@'5”?[ B U

43) Who fought Mohammad Ghori at Battle of Tarrain in 1191 and 1192 ? / 1191 3% 1192 % @R73 & g ® WigwWe M &1 gopraar fea
frar?

1. Lakshmana Sena / &1 T

2. None of them /3‘—@%@3‘%‘1

3. Jaichand / STI9<q

4. Prithvi Raj Chauhan / q%ﬁ el ?ﬁgﬁ

Correct Answer :-
« Prithvi Raj Chauhan / J2d} IS 9T
44) CANCELLED

When farmers sell a portion of their agricultural goods in the market, it is called ./ 919 fFram, aeR o 3=t Tﬁ aﬁ\ﬁ LR fe=m
¥ 8, 39 FEI AT

1. Marketed surplus / fauforg SRRy (Iﬂﬁg WRETY)
2. Marketed output / faufra Scme

3. Surplus goods / SRy AT

4. Total output / I SMIG

Correct Answer :-

« Marketed surplus /ﬁqﬁlﬁ SRRy (II'IEI%_S' WRETY)

45) Literacy refers to: / HI&RI BT dreqd J2I
1. Reading only / FHad uaﬁ

2. Speaking only/ Had ae

3. Writing only/ FHad ferem

4. All of the above / STRIERT T+t

Correct Answer :-

« All of the above / STRIad T+t

46) During the reign of which ruler of Bahmani kingdom was the capital shifted to Bidar from Gulbarga? / TEUI AT
F 5 AIF & AEASTA F SR AU [aaT A AR RFTaRd $ § wdt Az



1. Ahmad shah / 3/gHq X0Tg

2. None / sqﬁ I aﬂs‘ :l_E?f

3. Aluddin shah / 3ATIEH T8
4. Vira shah / =1 R

Correct Answer :-

o Ahmad shah / 3gHq R[5

47) Which ruler of the Vijayanagar empire wrote a famous book 'Amukta Malaya'? / fosraTR TTaTST ¥ fra mae A Th
URIS Ia® S wad fadt A

1. Harihara / EﬁFT

2. Dev Raya Il /SR

3. Dev Rayal/3dIA 1

4. Krishna Deva Raya / W g

Correct Answer :-

« Krishna Deva Raya / 91 X

48) was the committee constituted on ‘Revitalisation of Panchayati Raj institutions for Democracy and Development’. / CICLERE IR

T F g Tarad e SRS RIS W Wi &1 76 e T AT
1. Ashok Mehta / 37=11db Hadl

2.GVKRao /S I &G

3. L M Singhvi / Td T Rigat

4. Balwant Rai Mehta / S6dd X1 Hgdl

Correct Answer :-

« L M Singhvi / Tt Rfudt

49) Which ruler defeated Harshavardhana? / fFd 2 3 g¥a<fq &1 gemam?
1. Vasudeva of Chahamana Dynasty / ?ﬁ?l_"f CIRLEIED) GRS 3@3

2. Nagabhatta I of Gurjara Pratihara Dynasty / ﬂ\_rh UfAeR 4 & ANTHE UYH

3. Pulakeshin II of Chalukya Dynasty / e oI & m fgdra

4. Shashanka of Gauda dynasty / Tﬁg CRIGRNIGD

Correct Answer :-

« Pulakeshin II of Chalukya Dynasty / TRl 92l & ﬂﬂa"_‘\’ﬂ fgdra
50) Arrange the following events in the order of their chronology:
1. August Offer

2. Poona Pact

3. Third Round Table Conference

4. Khilafat Movement /

Fafafad gesli $1 379 FTawa & 9 § afyd o

1. 3R WKTd

2. QAT [HNaT

3. TR e we

4. fgeTwa siigie

1. 1-2-3-4

2.4-3-2-1



3.2-3-1-4
4.4-2-3-1
Correct Answer :-

. 4231

51) During the integration and merger of states after India’s independence, the Government of India rejected the farman of which State’s ruler?

/ HIRd 1 Tead] & 916 IsUl P THIHR 3R fITuT F ERM, YR WER 7 5 T0 F TS F B &) RATPR $ fean?
1. Raja of Kashmir / HIHR & ol

2. Ruler of Travancore / 0P R & ATTH

3. Ruler of Junagarh / S[ATTG & RNT&H

4, Nizam of Hyderabad / 8eR1STg & fSiTH

Correct Answer :-

« Nizam of Hyderabad / TRIEE & femH

52) On which of the following proposals Mahatma Gandhi remarked “A Post-dated cheque on a crumbling bank”? / HgTHT i AR

5a wara R Rewht #1 % g7 3 $t aE 1A% U1, e 9@ T8 g4 arar ani?
1. August Offer / 3TRd UXdTd

2. Communal Award / STHIGTRI% GREHR

3. Government of India Act 1935 / HRd ¥R SHfTIH 1935

4. Cripps Mission / forem fiRm

Correct Answer :-

« Cripps Mission / foredt forR=

53) Tibetan Plateau can be best placed in which among the following categories of Plateaus? / foset ToR @1 toR ¥t fufiafaa Al &
e I W a1 &1 9% 32

1. Intermontane Plateau / 3fcRTIGAT TSR
2. Dissected Plateau / fo=sfed TeR

3. Volcanic Plateau / SITATIEIT UER

4. Continental Plateau / n‘a’m“rdiﬁ TR

Correct Answer :-

. Intermontane Plateau / 3IdRTUddIT TSR

54) Stream flowing in the direction opposite to the original consequent slope is known as. / RIS G'Iﬂa'cﬁ za™ & faudia fozm & varfRa
YR & U & FUH SAT A 8|

1. Obsequent / W—jﬁ?ﬁ
2. Resequent / Wﬂa?ﬁ

3. Sunsequent / &Iﬁa—cﬁ
4. Insequent / KiEascrid

Correct Answer :-

« Obsequent / I

55) What percentage of the world's volcanic activity occurs within the oceans? / fay =t E'I?ITE@ Tfafafy &1 foraan ufa=rd ARl &
e g e?

1. 40%
2. 50%
3. 70%

4. 90%



Correct Answer :-

e 90%

56) Which of the following is the largest mangrove forest in the world? / fFrafaf@a A o fay A wed CE) Mg aTg?
1. Greater Antilles Mangroves, Cuba / Jex Qﬂﬁ‘l\_ﬂ ﬁ'lﬂa, sl

2. Sumatra Mangrove forest, Indonesia / JHIAT Aig T, SSHRET

3. Bahia Mangroves, Brazil / ETI%'QTW, FINIS]

4, Sundarbans Mangrove forest, India / &ra g g, HRd

Correct Answer :-

« Sundarbans Mangrove forest, India / W ﬁuﬁa’ g4, HRd

57) The Gandhi Sagar Dam is built on which river in Madhya Pradesh? / it IR 9y " 'qa"\’l #fea q?ﬂ LRI RIR %?
1. Narmada / :Iffa'[

2. Tapti /?ﬂ?ﬁ

3.Son/ =

4, Chambal / ECK]

Correct Answer :-

« Chambal / Idd

58) Guantianamo Bay is located in which country? / ECIGIE L] E'I@ fradwdfRE %?
1. Cuba / 4T

2. Haiti / gdl

3. Bahamas / dgTHNI

4. USA / 381

Correct Answer :-

« Cuba /HdTl

59) The Dehang-Debang Biosphere Reserve is located in which among the following states? / fafafaa d Q fea sa & %W-WT Savsd
frord fRua &2

1. Arunachal Pradesh / 3{UITEd =T
2. Manipur / A0TGR

3. Assam / 3gH

4. Sikkim / RifapH

Correct Answer :-

« Arunachal Pradesh / 3ISUTEd YT

60) Solar Valley, world’s largest solar water heater manufacturer is located in which of the following countries? / fafafaadafea a'!ZT |

Hier a1, fay &1 9e 391 9R o arues fHafar fRa @2
1. Japan / SITAH

2. China / &M

3. Australia / feTerT

4. Germany / ST}

Correct Answer :-

. China/?ﬁ:f






